il iner

MERCEDES BENZ METRIS FULL SIZE WALL LINERS
INSTALLATION INSTRUCTIONS

NOTES:

Before commencing, remove all wall liners already installed in the vehicle.
Consult layout PDF and compare vehicle layout

Prepare hardware shown below and have them ready for installation.
Wall liners will be installed in the order shown in the instructions.

i R WNPR

A drill with a Phillips driver is required to install ( C) #8 Screws) shown below.

Hardware

&
I

A

A) Retainer B) #8 Screw Cap C) #8Screw D) M6 Screw




TEAM

= e, T I SO B S I ]

-l

12

13

14

15

16

17
18
19

20

=

\;
R v
A Vo
P { i
,’“ Ll ¥ % !
5 TR ¢
i 1 -
¥ ] [N 1’
r IH ‘
; 1t HE
5 . i
- ‘g "il
_________ W
*
i o
o
Lo
I i
3 E=
* & E H
i i
H i
! :
| i
=
P
P
L 4 al i

A

DESCRIFTION QY.
CEILING PANEL - METRIS - GREY 1
SILL - DRIVER SIDE - METRIS 1
SILL - PASSENGER SIDE - METRIS 1
METRIS FLOOR 1
REAR PASSENGERS SIDE PAMEL - METRIS - GREY 1
SLIDING DOOR PASSEMGERS SIDE PANEL - METRIS - GREY 1
LOWER DOOR DRMERS SIDE PANEL - METRIS - GREY 1
LOWER DOOR PASSENGERS SIDE PAMEL - METRIS - GREY 1
UPPER DOOR DRIVERS SIDE PANEL - METRIS - GREY 1
UPPER DOOR PASSENGERS SIDE PANEL- METRIS - GREY 1
REAR DRIWERS SIDE PANEL- METRIS - GREY 1
REAR CORMER DRMERS SIDE PAMEL - METRI - GREY 1
FROMNT DRWERS SIDE PANEL- METRIS - GREY 1
REAR CORMNER PASSENGERS SIDE PAMNEL - RMETRIS - GREY 1
FLOOR SILL40"- METRIS 1
FLOOR SILL 53"- METRIS 1
SCREW - PHIL. PAN HD #8%.75 SELF DRILLING 110
RETAINER- BLACK NYLON 37
SCREW CAP 104
SCREW MEX1 .0x13 PHIL PAN HD ZINC 2

3
i
1
[l
]
1

—




Driver Side Wall Liner Installation

ITEM 11
REAR DRIVERS
SIDE PANEL

BACK

ITEM 13
e MR, L,
— i i H’: 'F",-"r_n_"_r"l '-.,I III';I - ’I i b FRONT
2 = . A” v : %:r___ - .;.I — ::"'lr i | - I|II | 3 DRIVERS SIDE
% i . . 2y [ PANEL

- Il —"" N FRONT

NOTCH

1: Install ltem 13, Front Driver Side Panel.

Align notch and edge of panel with the feature on the vehicle driver side front then
align opposite side of panel edge with the contour features.

Install hardware (B, C), in the holes provided, on the bottom of the panel first,
working your way up the panel to the top.

2: Install Item 11, Rear Driver Side Panel.

Align wheel well edge of the panel with the feature on the vehicle, position the

contour of the panel to the vehicle wall.
Install hardware (B, C), in the holes provided, on the bottom of the panel first,

working your way up the panel to the top.

Installation completed




Back Door Wall Liner Installation

ITEM 10

UPPER DOOR
PASSENGER SIDE
PANEL

ITEM 8
LOWER DOOR
PASSENGER
SIDE PANEL

ITEM 9
UPPER DOOR
DRIVERS SIDE
-~ -1 PANEL

B,C

ITEM 7
LOWER DOOR
DRIVERS SIDE
PANEL

=
s =

B,C A

Installation completed

3: Install Item 9 and 10, Upper door panels,

Install hardware (A) in the center top hole on each panel and on
the corresponding hole at the top center of each door.

Align the Upper panels with the door contours.

Install hardware (B, C), in the holes provided, on the bottom of
the panel first, working your way up the panel to the top.

4: Remove the door handle Bezel prior to installing the bottom
passenger side panel. The bezel must be pulled off of the handle
unclipping the edge of the Bezel all around the handle frame.
Install tem 7 and 8, Lower door panels, with hardware (A) all
around the panels in the holes provided on the panel as well as
on the doors.

Align the Lower panels with the door contours, install hardware
(A).

Reinstall the handle Bezel by aligning it and pushing it back into
place.

Handle Bezel




Passenger Side Wall Liner Installation

ITEM 6
SLIDING
DOOR PANEL

FRONT

ITEM 5
T REAR PASSENGER
| SIDE PANEL

o : BACK

Installation completed

5: Install Item 5, Rear Passenger Side Panel.
Align wheel well edge of the panel with the
feature on the vehicle; position the contour
of the panel to the vehicle wall.

Install hardware (B, C), in the holes
provided, on the bottom of the panel first,
working your way up the panel to the top.

6: Install Item 6, Sliding Door Panel.

Note: Sliding door must be closed to install
panel;

Insert panel into the sliding door sill cavity,
align holes at the bottom half of the panel
to the one on the door and insert Retainer
(A) in all of the holes. Install hardware (B, C)
in the holes provided on the top part of the
panel.




